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1. ldentify the solution for the inequality (—2x—16)<0,x€Z
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2. Identify the solution for the inequality (= x)>0,x€Z
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3. Identify the solution for the inequality (x+1)=<0,x€Z
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4. ldentify the solution for the inequality (-3x—27)=0,x€Z
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Which of the following figures represents the solution set
{-7,-8,-9,-10,-11,-12,...}
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Which of the following figures represents the solution set
{2,1,0,-1,-2,-3,...}
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Which of the following figures represents the solution set
" {-4,-3,-2,-1,0,1,...}
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Which of the following figures represents the solution set
" {8,7,6,5,4,3,...}
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Identify the solution for the inequality
" (-11)<(-4x-8)<13,x€Z
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Identify the solution for the inequality
" 9<(6x+7)=23,xEZ
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Identify the solution for the inequality
2=<(-5x+4)=<27.,x€Z
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Identify the solution for the inequality

" 0=(7x-5)<13,x€Z
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Identify the solution for the inequality
1>(—-5x+45)>(—-14),x€Z
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Identify the solution for the inequality
2=(3x+3)=(-21),x€z
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Identify the solution for the inequality
" (=2)=(—-6x+1)>(—16),xEZ
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16. ldentify the solution for the inequality 52 >(—5x+7)>(—-18),x€R
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17. Identify the solution for the inequality4 >(4x—-4)>(-12),x€ER
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18. Identify the solution for the inequality41l =(-7x—-8)=13,x€R
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19. Identify the solution for the inequality 23 =(-7x+2)=44 ,x€R
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20. Identify the solution for the inequality (—=2)<(x+7)=<11,x€ER
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21. Identify the solution for the inequality (—40)=<(8x+8)<72,xER
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22. ldentify the solution for the inequality (—49)<(—=7x—-7)=28,x€R
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23. Identify the solution for the inequality 13 =(x+9)>1,x€R

ST T T T T T T T TTTT—*

10 -9 -8 7 6 5 4 -3 2 -1 0 1 2 3 4
(1

ST T T T T T T T T T T rT1*

-12 -11 -10 -9 -8 7 & 5 4 -3 -2 -1 0O 1 P
(1

ST T T T T T T 7T 7T

-8 -7 68 5 4 -3 -2 -1 0 1 2 3 4 5 6
(nn

ST T T T T T T 77171

9 8 7 6 5 4 -3 -2 -1 0 1 2 3 4 5
(1v)

(i) mgi)y 1 (i) vV (iv) 1l

Which of the following figures represents the solution set of
(x—7)<0,xER
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Which of the following figures represents the solution set of

25.
(5x—10)>0,x€R
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Which of the following figures represents the solution set of
" (=x+2)=<0,xER
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; Which of the following figures represents the solution set of
" (=7x+7)=0,xER
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Identify the solution for the inequality
" (—-8x+64)<0,xEN
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Identify the solution for the inequality
(—=x+7)=<0,xEN
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Identify the solution for the inequality
(-2x+14)=0,xEN
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Identify the solution for the inequality
(=7x=56)=0,x€W
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Identify the solution for the inequality

(—6x+24)>0,xeW
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Identify the solution for the inequality
" (=4x+12)=0,xEW
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